Assembly Instructions for Table Clamp

Loosen set screw at end of gooseneck using the 2mm Allen wrench. Attach
the gooseneck arm to the Table Clamp using one 3/8" flat-head screw. Insert
lock washer and washer as shown. GENTLY tighten the 4mm set screw.

TOOLS REQUIRED: 2 mm and 7/32" Allen wrench (included)

Gooseneck

Set Screw

Lock washer

e 3

NOTE: You can attach
the gooseneck to either
hole

Table Clamp

WARNING: Prior to inserting the 3/8"
screw, you must first loosen the
4mm set screw. After tightening

the 3/8" screw, GENTLY tighten

the set screw.

Screw 3/8-24 x 3/4"

W

SnakeClamp Products

—

www.SnakeClamp.com | support@snakeclamp.com snakBCIamp




